7. Write a note on Tidal energy.

8. Differentiate between wave and hydrogen
15

energy.
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1. (a)
(b)
2. (a)
(b)
3. (a)
(b)
4. (a)
(b)
M-GS83

Unit I

Explain the points in favour of ‘in situ’
theory. 5
Differentiate between proximate and
ultimate analysis. 10

Explain in detail the objectives of coal
washing. 8
Explain in detail the salient features of
how temperature carbonisation and high
temperature carbonisation. 7

Unit 11

Depending an the nature of hydrocarbon
present in it, crude petroleum is classified
into many types. Explain any one type in
detail. 8

Differentiate between thermal and
catalytic cracking in detail. 7

Explain Dubbs thermal cracking process

in detail. 8

Explain the effect of varaibles in catalytic

reforming. 7
2
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Unit 111

Explain the reaction zones in a producer

gas. 5

Explain the different between natural and
artificial draught. 10

What is Pulsating combustion ? Explain.
5

Explain any one method in detail for

burning gaseous fuels. 5

The fuel gas from an industrial furnace
have the following composition by
volume :

CO, = 11.73%, CO = 0.2%, N, = 0.09%,
O, = 6.81%, N, = 81.1%

Calculate the percentage excess air
employed in the combustion, if the loss
of carbon in clinker and ash is 1% of the
fuel used and fuel has following
composition by weight :

C = 74%, H, = 5%, O, = 5%, N, = 1%,
S = 1%, H,O = 9% and ash = 5%
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